/DIIRB

3UDFRZQLN 5RINaDG GU 6WESLHe ZLGLD 7\J

7\ 7\ 7\
- 7N 7N
I 3RGVIDZ\ 3RGVIDZ\ ED] GDQ\FK GU 3RGVIDZ\
[a) SIRJIDPRZDQD Z 6ICSIHE /IGID =DICFLD RQ SIRJIDPRZDQD Z
— 3\IKRQIH = GU BICSIHE wQH O/ 3\IKRQIH 7 Gl BICSIHE -RPXQINDF | | .RPXQINDF
% /G0 =DICFLD RQ (LQH /G0 =DICFLD RQ (LQH ID FJ{RZIHN | |ID FJéRZLIHN
= 0/ 57= 0/ 57= NRPSXIHU | [NRPSXIHU
g GU BICSIHE | |GU BICSIHE
) /IGID =DIC | [/1GID =DIC
FIDRQ UQH | |FLD RQ 1LQH
7\J
P
T
z 3URIUDPRZDQH
= SURFHGXUDIQH Z & GU
N 6IICSIHE /1GID =DICFLD RQ
wH o,
7\
3RGVIDZ\ ED] GDQ\FK Gl g
6ICSIHE /1GID =DICFLD RQ
wQH O/ =DDZDQVR
o ZDQH
0] SURJIDPRZ
x DQH Z
T & Gl
BICSIHE
/IGID =DIC
FID RQ 0QH
2
= 7\ 7\ 7\
S
a 3URIUDPRZDQH =DDZDQVRZDQH 3URIUDPRZDQH
N SURFHGXUDIQH Z & Gl SIRJIDPRZDQHZ & G SURFHGXUDIQH Z & Gl
i 6ICSIHE /IGID =DICFLD RQ U BICSIHE /1GID =DICFID 6ICSIHE /IGID =DICFLD RQ
wH o, *. RQUQH ,, 2 wH ., 2
=
™
7\
3URIUDPRZDQH ™ ™
SURFHGXUDIQH Z & Gl
6BICSIHE /IGLD =DICFLD RQ
a wH .5 2
= 3URJIDPR | |3UIRIDPR
i ZDQIH ZDQIH
o SURFHGXUD) | |SURFHGXUDY
> QHZ & Gl | |[QHZ & GU
BIICSIHE BIICSIHE
/IGID =DIC | |/1GID =DIC
FIDRQ UQH | |FLD RQ 1LQH
5 5
2 2
7\ 7\G]
- 3URIUDPRZDQH 3URIUDPRZDQH

SURFHGXUDIQH Z & GU
6ICSIHE /IGLD =DICFLD RQ
(lQH .5 2

SURFHGXUDIQH Z & GU
6ICSIHE /IGLD =DICFLD RQ
(lQH .5 2




/DIIRB
3UDFRZQLN 5RINaDG GU 6WESLHe ZLGLD 7\J

QLHG]LHOD

7\6]

3URJIUDPR
ZDQH
SURFHGXUDY
QHZ & GU
BIICSIHE
/IGID =DIC
FID RQ 0QH
5
2

7\6]

3URJIUDPR
ZDQH
SURFHGXUDY
QHZ & GU
BIICSIHE
/IGID =DIC
FID RQ 0QH
5
2




